907- Mountaineer Rack:

o L" “ pl c Wrangler JK, 2007 to current Unlimited 4 Door.
‘ 907-171 Gloss Black

L - N - ol BV Nodm g 007-174 Texture Black

™ For assistance with installation please call

Made in the USA since 1948 300 777 0878 mon-fii 9:00am to 3:00pm p.s.t.

DO NOT TIGHTEN HARDWARE UNTIL ALL HARDWARE IS IN PLACE, OR INSTRUCTED TO DO SO.

Parts Hardware
2 - L shape brackets which 6 - 3/8-16 x 5" carriage bolts
make a Z Bar mounting bracket 4-5/16"x 5 1/2"carriage bolts

8 - Round Spacer Tubes 2-3/8-16 x 6" carriage bolts
1 -Top Loop 8- 3/8" nylocks

1 - Bottom Loop 12- 3/8"flat washers

6 - Knobs Tools Reguired:

2- Male/ 4 Female 9/16" Socket

2 - Roll bar saddle brackets (C  9/16” Open End Wrench
Brackets) 1/2" Socket

8 - Square Spacer Tubes 1/2" Open End Wrench

2 - Solid Rectangular brackets  3/8” Drive Ratchet

Step 1: Constructing the basket

A: Take the top loop of the basket and set it on a table or floor.

B: Insert the carriage bolts from the bottom up, place a flat washer
over the bolt then slide the spacer tubes over the bolt and place ] )
a second flat washer over the end of the bolt to set on top of the Two piece Z Bar mounting bracket.
spacer tube. Wlth quiCk disconnect knOb

C: Take the bottom loop and place it over the bolt ends and fasten "/
o

the nylock nuts with a 9/16” socket or wrench. As you fasten the
nuts the carriage bolt head will seat itself into the round hole in the
top loop.

(Tighten until head sits flush on top of rectangle)

Step 2: Installing the Z Bar Mounting Bracket

A: Bolt the two piece L Shaped Brackets together using a knob.
ToformaZ(ZBar)

B: Unfasten the O.E.M. Nut behind the rear passenger seat with a
#18 m.m. socket or wrench. Place Z bar in position and refasten the
same Nut into place.

C: Unfasten the nylock nut on the bottom of the basket that lines
up with the hole in the top of the Z bar. Position basket on top of
the Z bar. Place the bolt thru the Z bar and refasten the

nylock. .

Step 3: Installing Basket to Roll Bar

(Installing the specialty hardware around the rear of the roll bar.)

A: Holding the rectangle spacer between the roll bar and the bas-
ket, insert the carriage bolts thru the inside of the lower loop of the
basket.

B: Place a square spacer tube over each of the carriage bolts and e e : Saddle Bracket
then place the roll bar saddle bracket from the outside of the roll
bar and slide two more square spacers over each of the bolts and
fasten with the Knobs

Roll Bar Mounting
assembly

Carriage Bolt

Sq spacer



